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B. Com. (Sem. I) (CBCS) (W.E.F.-2016) Examination
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Business Mathematics-I
(New Course)
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ENGLISH VERSION

If A, B, C are any three sets prove that
An(BUC)=(4nB)u(4nC)
If 4={x[12<x<19,xe N}
B={y|13<y<17}
C={z|11<z<17} verify that
AX(BNC)=(AxB)N(AXC)
OR

Give the definition with example
Finite set
Complimentary of set
Cartesian product
Union of sets
Intersection of sets
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IfU=1{1,2,3,4,5672809}, 4={2.4,6,8},B={2,3,57} 10

Verify that
i) (4AuB)'=4'NB

(i) (4nB)'=A'UB'

If (’"+”)132 =56 and (”’_")PZ =12, find m and n.

10

Using all letters of the word "Statistics", how many 10
arrangements are possible ? How many of them 3 's' are

together ?
OR

@ "C,,:"C,=7:4 find n.

(i) Prove that "*C _,+2 - "°C._ + "°C, ="C,.
A bag contain 5-Rupee coins, 4-fifty paisa coins,
3, 25 paisa coins, 3-coins are selected such that
(1) all coins of fifty paisa

@11) all coins are different base

(1i1) None is Rupee coins.
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@) Find value of (1001)3.

x 1

@) Find middle term in Expansion of [E_x_z

Find co-efficient of x!V in Expansion of

OR

3 4
(i) Expand (2X+—] )

X

() Find value of (JE+5)4 +(+2 —5)4.

Obtain constant term in Expansion of
9
4x* 3
3 2x)°

Explain Interpolation and Extrapolation.

Using Newton's Method estimate y when x =17

x| 15 | 25 [ 35 | 45 | 55
11.1(12.6 |14.3 [16.1 |18.3

OR

4  Estimate y when x =7, using Lagrange's method.
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